N

NO2E v NV
BLLLEISY BUYT]

SFEEDLE Y= UM ASIEAOU—
DEU—TT,

18608351
IxIF—(keal) 10|E9=VB2(mg)| 0.50
K (8) 53.3[F747YY(mg)| 4.5
fehlE< E(g) 0|E9=vB6(mg)| 0.50
FEEE () 0|E'9=>C(mg) 50

BRI (@) 6.5|E9=UD(ug)| 34

E9SVA(ug)| 280|E9=VE(mg) 23

E93VBI(mg)| 0.40BIEHEZER)| 0.17

60g 95m

NIORFvINVEH
BULLEISY REHIEGLEY |

SFEFADE Y= VA A S feiEAOU —
DEY—-TT,

1186083574

IxIbF—(keal) 10|E9=VB2(mg)| 0.50
K53 (g) 549|F747YV(mg)| 4.5
rhIE<ER) 0|E5=B6mg)| 0.50
fEE(g) 0[EF=vCmg| 50
BKIE(R) 48|E5=D(ug)| 34
E9ZVA(ug)| 280|EF=VE(mg) 2.3
E9=UB1(mg)|  0.40|BiEtE%E ()| 0.20

60g 95m

NIRF v INVH
BLLLEISY ALV Y|

STEEDE Y= VM ASIcfEAOU—
DEU—TT,

1{@60gd 1=t
TlE—(kea)]  10[£5=vB2mg] 0.50
X% 547[7479Y(mg)| 45
FEhIE<E(Q) 0[E5=vB6mg)]|  0.50
REE(®) 0[EF=vCmg| 50

BAK{E(8) 5.1|E932D(ug)| 34

ES=VA(ug)| 280|[EF=TEmg)| 2.3

E9=BI(mg)| 0.40|BiEfESE@)| 0.18

60g 95n

63004 ERAVF.S S AV
BULLKEISY Y2AY b

SN Y= VD ASIcEAOU—
DEU—TT,

1{860g#1=Y)
I)bF—(keal) 10|E9=VB2(mg)| 0.50
K53 (g) 53.8|F747Y¥(mg)| 4.5
ehIE<LE(Q) 0/E'9=VBb(mg)| 0.50
BEE(g) 0|E'9=>C(mg) 50
RAKIE(R) 6.0|E9=D(ug)| 3.4
E9SVA(ug)| 280|EF=VEmg)| 2.3
P9=UB1(mg)| 0.40|BiEtE%8@| 0.16

60g 95mH

N2+ NV
BULLLEYSY 7E0O5

SFEEDE Y= VN A IEAOU—
DEU—TT,

11860g85 1Y
TIR)bF—(kcal) 10|E9=VB2(mg)| 0.50
K53 (g) 55.9|F4 7YV (mg) 4.5
FhIE<E(R) 0|E9=UB6(mg)|  0.50
FEEa () 0|E9=C(mg) 50

RAKIEY(8) 3.8|E9=D(ug)| 3.4

ES=VA(ug)| 280|[EF=TEmg)| 2.3

E9=VBI(mg)| 0.40BIEHEZER)| 0.21

63006 BWAY=FE XAV
BULLETISY TI=-AY=|
8EFEDE Y= UMW A ZiEAO U —
DEPYU—TT,

11860g#1=Y
IRIbF—(keal) 10|E93VB2(mg)| 0.50
K53 (g) 56.3|F17Y > (mg) 4.5
ehIE<E(g) 0|E5=VB6mg)|  0.50
BEE() 0|E9=>C(mg) 50

BoK{E(g) 3.5|E9=D(ug)| 34
E9=VA(ug)| 280[E9=VEmg| 23

E9=VBI(mg)| 0.40BiRIEZE(| 0.17

LY S

o - 95m| | U 60g 95m
— —2—hU— —a—hU—
e 0jt) VA IMTF-S730-vE | | TV IMFFEU= £9471-Yk |

PE-BIXIF-—TCEIZVUYF
BFFEU— 1{E23g (AT U1#F
) T80kcals

118233574

I)bF—(kcal) 80|E9=VB12(1g) 3.3

ehIE<ER) 0|E9=C(mg)| 167

[EE) 6.0[747v¥mg)| 5.0

BRAKIE#(R) 6.5|Fm(1g) 184

BIER%EE| 0.01693vD3ug| 1.8

HUDL(mg) 3|[E9=VEmg)| 6.7

AbysLmg| 254 F J(ug)| 17

U(mg) 1|V b7 VBmg)|  3.30
E9SVA(ug)| 100|#%k(mg) 1.0
E93UB1(mg)| 1.00|FEEA(ME) 4.0
E9=B2mg)| 1.00[EL >V (ug) 17
E9=B6(mg)| 1.70|K5 () 10

1,908m

LB BIXIF—CEIZ VU vF
BPFELU— 1E23g (AT U1
) T80kcalo

11823g857H

IRIbF—(keal) 80|E9=VB12(ug) 33
ehIE<E() 0|E9=YC(mg)| 167
BEE(g) 6.0[747Y¥(mg)| 5.0
RAKIEH(E) 6.5| M (1g) 184
BIEESEE| 0.01]93D3(ug| 1.8
AU D L(mg) 3|[E9=VEmg)| 6.7
ALY L(mg) 25|EFF(ug) 17
U>(mg) 1|7 VEmg)| 3.30
P9=UAug|  100[#mg) 1.0
E93UBI(mg)| 1.00|FEEH(ME) 4.0
F9=YB2mg)| 1.00[€L(ug) 17
E93UB6(Mg)|  1.70[2K%5(8) 10

1,9087




S s\ i,

NBEOEY =V L8k L UE
DRI ZREE Ul A A TREER
TU—,

val0jl)

Za—kU—®

74:9VatY=-hy7947 YT

1hyF74g81=H
TIxIF—(kcal) 57|E9 = VB6(mg) 3.5
feAIE<E(@|  0.5/E93UB12(ug| 7.0
[T £9=>Cmg)| 350
RAKIEH(8) 14.1|347Y>(mg)| 10.5
—HEE(R) 13.5|FE8(ug) 560
—Bi@E| 0.6|£93vD3(ug| 3.85
BERYNE@Q]| 0.06/E5=VEmg| 14.0
AUDLmg)| 4|V 7VEmg| 7.0

o

MNEDEY IV k- Bin- EL VE
DRI ZEE U A A TEEER
EU—,

Za—kU—®

J49VAtY=7y7547 #+09b |

1719758851

IRILF—(keal) 57|93 B6(mg) 3.5

TehIE<E@| 1.0/£93vB2ug| 7.0

o

fEE(8) E9=2C(mg)| 350

Bok{E () 13.5(747YY(mg)| 10.5

—HEE(R) 129|581 g) 560

—BWsEtE| 06|69 D3| 3.85

BIEIESE(| 0.06]E9=VEmg)| 14.0

AUDLmg)|  60/iU 5 VEmg| 7.0

AbYDLmg)| __ 41]8kme) 35 AYIAm|  41]8mg) 35
3729 h(mg) 2|@Es(mg) 8.4 <72y h(mg) 3|Es(mg) 8.4
U~ (mg) 11/88(mg) 0 UY(mg) 18/8@(mg) 0
E9=vA(ug| 383U (ug) 35 E9=VA(ug)| 383U (ug) 35
E5=UBImg)|  2.1|p57hUT8g| 1.1 E9=vBlmg)|  2.1|A57h4UTEg| 1.1
E5=vB2mg)|  2.1K%@ 59 E9=vB2mg)|  2.1K% (@ 61
748 1275 75¢ 127+
NBOL'Y S &k T L% Fm —a—bU—@ | vmgorssvemneLysen ELIN —ai—-hU-—®
D=2 ZRG U A TREER 3 =2I)b. T HI(CHEEZ6,000/=EE ; )
t“u—oj - 74‘7UXtU'7JW7947 77j'} ﬁcg)?ajﬁ%[:b-&b;ﬁu_g,rjo 7‘('7[/1”0“:1)12')' E_;}
L] 1y F74gs1Y iaﬁiﬁ 1877gs 1
2021 ojé' TxLE—(kea)] 57[c5=vB6mg] 3.5 2021 o-lé TaLE—(kea)] 90[E9=Cmg)] 500
TehE<E@®| 0.6|E55B12(ug] 7.0 rEAE<E@| 03[747vvmg| 15
FEEE () 0[E9=>C(mg)| 350 BEE(g) O|FE®(ug) 550
Bk | 138747YY(mg)| 105 BoKiEWE | 22.2E53YD3(ug| 55
—BHE@) 133 (ug) 560 BERNE@E)| 0.04E5=VEmg| 20.0
—BYE®E)|  05]P9=UD3(ug| 3.85 AUSLmg)|  20[EF4FU(ug| 50
BEELE@E)| 0.04[E5=VEmg| 14.0 ALYTAMm|  70[fVF>vEmg| 10.0
AU D L(mE) 25/S%V b7 V#mg)| 7.0 NT%xYUAMmg)|  1.6/8k(mg) 5.0
Abvohmg)|  41]#kme) 35 U~ (mg) 7|Es(mg) 120
YTV 1(mg) 1|#EE8(mg) 8.4 E9=ZVA(ug)| 300|fEH(mg) 0
U (mg) 5[5 (mg) 0 E5=vBlmg| _ 3.0|zL(ug) 50
E9=vA(ug| 383U (ug) 35 E5=-B2mg)| _ 3.0|ALEE(EE) | 6,000
E9=UBImg)|  2.1[p57h4UT8g| 1.1 P9=vB6mg)|  5.0/457 MUTEE 2
E9=VB2Amg)|  2.1|%K5(g) 60 E9=UB12(ug)| 10.0]K53(8) 53
748 127+ 778 180m
EgorysveEs tLvnen  [EEIEEN Za—MU—@ 12&%@95937&5*5»:5— Za1—kU—®
S35, 5 (LB 76,000f2EE S Hle S.95" FYRFF R10,000mg. 5T = = v
B BRIHAIHF TP Ly _g,(j"o 7‘('7IJZBIO(E1)‘EJ 7'77/1} ‘/b@’ff\QTQ’Z’HE’Sa [a@'{:gﬁ%};ﬁ 74'7'/1 CP101!J :‘7717"! j }
panm Ojﬁ @7 7am1y BR FOUE#(I] | OFRRGFIEES. T
2021 = TzlE—kea)| 90[E5=vCmg| 500 $§5}¥E TxlE—kea)| 110[25=Cmg| 500
ErIE<ER|  03[F47yvmg| 15 2021 5 TehIE<E(@)| 12.0[7479vmgNe)| 15
BEE(8) O|ZEM(ug) 550 BEE(g) 0| (ug) 550

BIK{E#(g) 22.2|/E93VD3(pg| 5.5
BiFtELE()| 0.04|E9=VEmg)| 20.0
HUDL(mE) 10|EFF(ug) 50
AWYDL(mg) 70|V ~7VE(mg)| 10.0

RokIEM(2) 15.5|/F93D3(ug)| 5.5
BIEHESE@E)| 0.10/E9=VEmg)| 20.0
AUTL(mE) 13|EFF(ug) 50
ALY Ls(mg) 75|18V b7 U#(mg)| 10.0

J2yohmg|  1.1|8me) 5.0 YT%y9hmg) 1[8k(mg) 5.0
U (mg) 6|FBf(mg) 12.0 U~ (mg) 7|E@f8(mg) 12.0
E9=vA(ug)| 300[8H(mg) 0 P9SVA(LERAD|  300[ELV(ug) 50
E5=UBlmg)| _ 3.0[zL(ug) 50 P9=>Blmg)|  3.0]7109LQ0mg] 15
E'9=>B2(mg) 3.0/3LEEE (I&f@) | 6.000 E932B2(mg) 3.0[353-¥UR7F g 10
E9=uB6mg)| _ 5.057 1R 2 E5=vB6(mg)| _ 5.0[KH (@) 53
P9=UB12(ug] 10.0K%(@® 53 E9=UB12(ug 10.0
778 180m 80g 194
12@50)!:“95‘;;&9@@%‘@80357\5 63083 ==Xl Vil 1 1@3@5‘95)&;@3@%@%@ —a—hU—®
)V AZ—5"YRFF R10,000mg, 5 1) = S, Ul B L oh By —9 4, M=
[COT VYA LAQI0EES . BRFHARICD 74'7[/1 CP10tU- IbE ZI/JJ} BEOHIOF 0w N, 74'71/11!) 7)‘79947 *fu‘yH
STLLBHENBREY—5 AT, T = _ “1%(\1/271‘)1078575)
1{@80gds 1=t ‘7‘2?)21 IIbF—(keal) 67|E9=2/B6(mg) 5.0

IxlF—(kea)] 110/[E9=2C(mg)| 500
FehIELE(@Q)|  12.0547YV(mgNE) 15
BEE(g) 0|5 (ug) 550
BAK{E(8) 15.5|€93vD3(ug)| 5.5
BiEEZE@)| 0.10|E9=VE(mg)| 20.0
AUDLME)|  44leFFU(ug| 50
ALY L(mg) 758V +7 VE(mg)| 10.0

3729 h(mg) 1[8(mg) 50
U (mg) 4|EB8(mg) 12.0
P93 VAugRAR| 300[EL U (ug) 50

E93VB1(mg) 3.0{3TU44LQ10(mg) 15

E9=B2(mg) 3.0|35-5URTF R 10

E9=VB6(mg)|  5.017K5(g) 53

E53B12(ug  10.0

80g

194m

fehlE<E(R|  1.0[E93VB12(ug)| 10.0

BEE(g) 0[E9=>C(mg)| 500
RAKIEH(R) 16.0/74 7Y ~(mg) 15
—HEE(g) 15| (ug) 550

—BYtg) 1.0|E93UD3(ug) 55
BIEHEZSE@E)| 0.06|E9=VE(mg)| 20.0
AUSLmg)|  58fYFzYEmg| 10

ALY Ls(mg) 58| (mg) 5.0
NTxYIL(mg) 3|E#(mg) 12.0
U>(mg) 16|$8(mg) 0
P9SVA(ug| 550U (ug) 50
B-hOT¥(mg)|  6.6|A37p1UTM(E 1.6
E9=UBI(mg)|  3.0[K7(E) 87
E9=2B2(mg) 3.0

304m




B9V EIRIVF— %%ﬁié*é?ﬁ
Eﬂ%l%at:/\)lg?<% BEBODIUY
A7,

2021

63086 WoU=—3

VY f= M EU-BDAE)
[ INEEEE 118788514
Ix)UF—(kcal) 100|/%Y b7 B(mg)| [3.0]
K5 (@) 48.6|E9=Cmg)| 500
ehIF<LE(g) 0|AYD L(mg) [2]
[ 0nlbyvimg| 80
FoKIEM@) | 29.2]x7%v9hmg| (1]
F kU9 A(mg)|10~40|U >/ (mg) [6]
A () 0.2[8x(mg) 5.0
E93VA(gRAR)| [175]1|@8A(mg) 11.0
E9=D(ug)| 1.258A(mg) 0.18
PS=VEmg| 5.0t (ug 5
E9ZUBI(mg)| 0.65|BIEHZE(g)|003~0.10
£937B2(mg)| [0.70]| B (D) 5.0
F47 Y2 (mg\E) 8.0|57F20-2A() 0.5
E9=UB6(mg)| 0.80[1VTIhh4UIHE(R) 1.5
EFS‘JBQ(;,Lg) 1.20|Y-IV RABER(EE) 100
(g | [(120]

- ELT

EYSVETRIVF—ZHRA DRER
BB chE<E-BBEODIUT Y
S

o

63087 #WoU=1
E93YYi-MU=-FANY M) |

[ INEFESEE 1{878gd 1=l
Ix)bF—(keal)| 100|/XYhFVEE(mg)| [3.0]
X5 (@) 48.6|F9=>C(mg)| 500
ehE<HEE) 0|AU D L(mg) [2]
FEEE(g) 0[AILYY A(mg) 80
RAKIED(8) 29.2|¥7 %Y Y A(mg) [1]
+hUDA(mE)|10~40|U ~(mg) [6]
K53 (8) 0.2|#%(mg) 5.0
P93 VA(ugRAR)| [175]|Fsa(mg) 1.0
E9=UD(ug)| 1.25|f(mg) 0.18
P9=VEmg)|  5.0[tL>(ug 5
P93B1(mg)| 0.65|EHEEME()[0030.10
P93 B2(mg)| [0.701| &M% (g) 5.0
F47 92 (mgNE) 8.0|57F20-2(p) 0.5
E9=UB6(mg)| 0.80|1VvIi4UIR(E 1.5
E9IUB12(ug)| 1.20|Y-IIAEER(EE| 100
B (ug) [120]

- ELT

B9V EIRIVF—ERA DRER
ﬂﬂ%m‘%ak/\;@(ﬁ'ﬁﬁgowﬂ Urs
A 7o

2021

#Wou=3
E9ZyHR-MU=-($4Fy T |

[ INEBEE 11878g31Y
IxF—(keal)| 100/t hFVE(mg)| [3.0]
K53 (g) 48.6|E9=~C(mg)| 500
fehIE<E(Q) 0|UD L(mg) [2]
BEE(g) 0|AILYD L(mg) 80
IKIEY(8) 29.2|X7 %Y L(mg) [1]
FhUDLA(mg)|10~40|U >/ (mg) [6]
5 (8) 0.2|#%(mg) 5.0
P93 VA(ugRAE)| [175]|&SA(mg) 11.0
E9=vD(ug)| 1.25[3(mg) 0.18
F9SVEmg)| 5.0/t (ug) 5
E9ZUBI(mg)| 0.65|BiEHEZE(g)[003~0.10
E93VB2(mg)| [0.70] B (g) 5.0
TA72(mgNE) 8.0|57F20-2(g) 0.5
E93UB6(mg)| 0.80(J7LUTEE| 1.5
E9IUB12(ug)| 1.20[Y-IIAEER(ERE)| 100
ER(ug) [120]

- ELT

EYSVEIRIVF—EHADREM
ﬂﬂgﬁ:J:MzﬁKﬁﬁEE 0no7U7Y
A7

#WoU=3
93yt~ MU-(353IVEVE |

%[ INIEBEE 1{878gd51=t)
Ix)F—(keal)| 100/t hFVE#(mg)| [3.0]
K5 (g) 48.6|E9=C(mg)| 500
fehlE<E(g) 0[AYU™» A(mg) [2]
FEEE () 0|AILYD L(mg) 80
RAKIEV(8) 29.2|%7T YD 1(mg) [1]
FhUDL(mE)|10~40|U ~(mg) [6]
&5 (g) 0.2[g(mg) 5.0
PFZVA(ugRAE)| [175][E#8(mg) 11.0
P93 D(ug)| 1.25/8(mg) 0.18
E'9 X VE(mg) 5.0/ (ug) 5
P9=VBI(mg)| 0.65|BiEtELiE(g)[003~0.10
E9=YB2(mg)| [0.70]| Bkt (g) 5.0
FA7YYmgNE)|  8.0[57F20-2@| 05
E93B6(mg)|  0.80|1V7lh iU TE(R) 1.5
E93UB12(ug)| 1.20|Y-VRAEEREE)| 100
EH(ug) [120]

- ELT

BAEROEKRLVLWEU—T,. Y
SV IR EIS Mg s CER
I X2023FE(ICUZa—7I)L=ET
ELTHIET,

S
mSR

Fﬁm r—=F®
fBOVELE EISYYATTN|

18(50g) 37z
IRILF—(keal) 50|E9=VD(ug)| 66
K53 (8) 36.9|E9=VEmg)| 6.8
lEhlE<ER| 0.2[EI=K(ug) 0

BEE(g) 0|[E9=VB1(mg)| 1.43
RAKIEH(8) 12.8|E'93VB2(mg)| 1.52
F hU LA(mg) 29747y (mg)| 141
AU L(mg) 2|E93UB6(mg)| 1.41

ALY L(mg) Tr|E93VB12(ug) 3.1

BREROEKLVEU—CTI.EY
SV 1B EEBInSmg s CEE
I %2023FEICUZa—7ILZET
ELTHIET,

RY. S8
m 1

N—=F®
BV ELE E9SYTYI=Tn]

1{8(50g) 1Y
TrbE—(kal] 50[E5= D(ug] 66

K53 (8) 37.0|E9=VE(mg)| 6.8
fhIE<E@R)|  0.2[EIZUK(ug) 0
HSES(g) 0|E9=VB1(mg)| 1.43
RAKIEB(R) 12.7|E93B2(mg)| 1.52
FhRUDA(ME) 18|74 7Y (mg)| 14.1
AU L(mg) 0|E9=UB6(mg)| 1.41
AILYD L(mg) 0[E93UB12(ug)| 3.1

YJ7yohmg|  TrEE(Lp) 290 372 h(ng) [EET) 290
U(mg) Tr|AVhTVE(mg)| 6.24 U(mg) Tr|AVhFVB(mg)| 6.24
#(mg) Tr[ES=>Cmg)| 120 #(mg) Tr[E9=vCmg)| 120
HEA(ME) 5.0| Bt () 0.2 HEH(Mg) 5.0 B () 0.3
UF/-l4E(g| 1000/ 2EESEE] 0.1 UF/-ZE(g| 1000|BEELEE)] 0.05
~
B msL B =L
a%ﬁ%@iﬁ l;LB\tUh ﬁ?czr 5; F—=F® g*ﬁ%@ﬁ% Lﬁ;tgt U,J f-g* i; 63066 r—=F®
mgh\Eia ‘g=- =7 mgh ‘a=y
S VEBLERE eSS IanULES EITIBMAZN] | S ENCBEomEECES  (RanEEE KIIIE-FIn)
ELTBUET, 1@Gogsry | EULTHUET, 118(50g) 357
S~ Trlb¥—(kal] 50[E5=vD(ug] 66 < TrbE—(kal] 50[E5=vD(ug] 66
K5 (g) 37.0[E5=VEmg)| 6.8 K5 (g) 37.1[E9=VEmg)| 6.8
ehIF<LE(g) 0.2|E9=K(ug) 0 ' EhIE<EER) 0.2|E9=UK(ug) 0
BSE(g) 0[E9=vBImg)| 1.43 FEE(g) 0[E9=YBI(mg)| 1.43
Fokitl@ | 12.6|E9=UB2mg)| 1.52 FoKIE®(E) | 12.6]E9=UB2mg)| 1.52
F hUDA(mg) 35(F47Y7(mg)| 14.1 FhUDA(ME) 221747V (mg)| 1441
AYUD L(mg) 4|E9=UB6(mg)| 1.41 AYUD L(mg) 4|E9=B6(mg)| 1.41
HAYD L(mg) Tr|E93VB12(ug) 3.1 ALY L(mg) Tr|E93VB12(ug) 3.1
RTZYIL(MY) 1|E&(ug) 290 RTFVDLmg|  Tr|EB(ug) 290
U>(mg) 1V r5VEmg| 6.25 U~(mg) oSV r7VEmg)| 6.24
#(mg) TriE9=>C(mg)| 120 #(mg) TrlE9=>C(mg)| 120
Bfn(mg) 5.0| B (g) 0.2 En(mg) 5.0 B¥fiitE(g) 0.3
U7 /-I%B(ug| 1000 BiEtEZB@)]| 0.1 UF/-IE(ug| 1000/ SiEtEZSE®]| 0.1

- ELT

- ELT




S s\ i,

: MIREZEH)
PORERR F+0Ov FT YTV |
REUNBREK ALY DL EIZY
BE. LY== VCEEEILZSUNILY—
RU>T,

17:125mlds =t
IRILF—(keal) 69|E95YB2(mg)| 0.45
TehIFE<E(g) 0/ 747¥Y(mg)| 5.0

[EE) 0|£9=vB6(mg)| 0.65
Bk{E(g) 16.9|E93VB12(ug)| 1.9
BIFESE@E)| 0.03|FE(ug) 129
ALY YLmg)|  250|E9=2C(mg) 50
#(mg) 4.0 1FAUTHEE| 3.0

E9=VBI(mg)| 0.32

Fi] MREER
DPSERR IJL—-T |
ARUNBRBE. ALY O L EIZY
BB . Y= VCEEZICSOANILY—
rRU>T,

12125mlds =l

TIxIF—(keal) 69|E9=VB2(mg)| 0.40

RS =16) 0|F47¥~(mg)| 5.0
)

FEEa(g) 0|E9=B6(mg)| 0.65
RAKIEH(8) 16.4|E93UB12(ug) 1.4
BIRENE @) 0\FE®(ug) 125
ALY L(mg)| 250|E9=C(mg) 45
#(mg) 2087V TRE| 3.0

E9=YBI(mg)| 0.32

S l I
¢ 125mlx36 - 125mlx36
3,283m 3,283m
MASREZEW) 63094 MIREZEM
Ll W\ -~ WV
DSERESDDRE | DMSERR HifE720HR
‘9“3-3“') ERHFPITWV ALY DT LET FOEFWEHRHFPITWV ALY DALET
BOEY=ZVEEREGULENILY—RY BOEYZIVERGULIEANILY—RU
0, DA
17K125mld =k 14125mldr=h)

IIbF—(keal) 41|E9=VB2(mg)| 0.59 I)bF—(kecal) 39|E9=VB2(mg)| 0.59
Erzgifg(g) 8 z»fF‘J‘J(mg) 7.1 r:;l§<§(g) O[F47y>(mg)| 7.0
SE (g "9=B6(mg)| 0.98 BEE(g) 0|e9=vB6(mg)| 0.97
RAKIEM(Q) 9.6|P93VB12(ug)| 2.5 RAKIEW() 8.8|E9=vB12(ug| 2.5
BIFHEZSE () O|E®(ug) 142 BIFHESE @) O|FER(ug) 142
ALY LAmg)| 250[E9=C(mg)| 58 Abyohmg| 2509 Cmg)| 62
E9ZVBI(mg)| 0.42 E9=VB1(mg)| 0.42

L Ay, EOE L Ay, EUEL

S(J* 125mlx36 (@ D) 125mlx36

3,283m 3,283m

HWI—RT7
=SFRRY27 2125 8% 0y M 125m]
< SADETE Y E= RS LS
TEBMETT . RERBEER @),

175125mlds7zh)
IxILF—(keal)|  80[B-HOFV(ug)| 1500
K53 (g) 112[E93VAgRAE)| 125
fehlE<HE(| 0.5/E9XUD(ug) 1.1
BEE () O[E9=YEmg)| 19
BRI () 19.8|E9=UK(ug) 0

F hUDL(mg) 81|E93VB1(mg) 0.9

AUDL(mE) 77|E93UB2(mg)

ALY L(mg) 96| 547 Y>/(mgNE) 9.8
)

SESPIN) 4.0|E'9=VB6(Mg 1.2
U>(mg) 18]E93vB12(ug)| 2.0
#(mg) 6.9|ZEM(ug) 170
i(mg) 1SV hTVBmg)| 3.2
$A(mg) 07|e2F > (ug)| 42

IVAY(mg)| 1.4[E9=vCmg)| 480
Lo (ug) 61 B 0.4
20A4L(4g) 13| BIRIESE(g) 0.2

149

WI—R&7
=#FRRUYT 7y 71V 125ml |

fe<ShDET =Y EZRSILHHIG
TERHMHTT REMAERER.

172:125mlds =l
TxLF—(kea)] _ 80[B-hOFv(ug] O
K53 (g) 112|693 VA(ugRAD| 120
ehE<HEE)|  0.4|E9ZUD(ug) 1.1
BEE(8) 0|E'9 = VE(mg) 19

BRAKIEY(8) 19.7|E9ZUK(ug) 0
FhUDL(mg) 77|E93UB1(mg) 0.9
HUDL(mg) 33|E93VB2(mg)| 0.9
AILYD L(mg) 92|47 (mgNE) 9.8
v72yohmg|  2.1|E93UBsmg)| 1.2

U~ (mg) 13|E93UB12(ug) 2.0
#%(mg) 6.9|FEEB(ug) 170
Bin(mg) MY TVBmg| 3.2
#8(mg) 07|e4F > (ug)| 42

<UAYmg|  1.4/E95vCmg)| 480
wLY(ug 61 | () 04
J0L(ug) 13[BiEESER| 02

149w

Fﬂm WI—R&7
—2FRRY YT E-FH 125ml |

e<TADET =Y EZRSIVHHG
TEDHMHITI LREMAERG ().

14125mld 1=l
IxbF—(keal| 80[8-HOFY(ng) 0
K53 (8) 112|E93VA(ugRAE)| 120
fehlE<E(@)| 0.5E9=D(ug)| 1.1
BEE(g) 0.1|E9 = VE(mg) 19
ak1E¥(8) 19.4|E9=UK(ug) 0

F hUDL(mg) 77|E93UB1(mg) 0.9

AUYL(mE) 41|E93VB2(mg)

ALY L(mg) 92| 547 Y(mgNE) 9.8
)

SESPIN) 2.9|E93B6(mg) 1.2
U~ (mg) 15|93 UB12(ug) 2.0
#(mg) 6.9|EM(ug) 170
EE(mg) 1[5V 7vBmg| 3.2
#A(mg) 07|EZF > (ug)| 42

IYHAY(mg)| 1.4[E9=vCmg)| 480
L2 (ug) 61| Bt (e) 0.5
J0L(ug) 13|BiEHESEE)| 0.2

149

WI—RT7
=$TRFUYT 2UUY8F0Y M 1L |
FE<SADET =Y &= 25 LG
TEAMHTT FEWIER ()

100mlareh)
TxLF—(kea)] _ 64[B-hO7(ug) 1200
X5 (@) 89.6|C93VA(ugRAR| 100
fehlE<BE@| 04[5 D(ug)| 0.9
fEE () 0|E9=VEmg)| 15

RAKIED(8) 15.8|EI=UK(ug) 0
FhUDA(ME) 65/E93VB1(mg)| 0.7
HAYUD L(mg) 62|E9=VB2mg)| 0.7
ALY A(mg) 77347V V(mg)| 7.8
Y72y9hmg)|  3.2|E9=UB6(mg)| 0.96

U~ (mg) 14|E93VB12(ug) 1.6
#(mg) 5.5|Em(ug) 136
Bin(mg) 8.8|/\Y 7 VH(mg)| 2.56
#(mg) 0.56|E7F > (ug)| 336
VAV (mg) 1.1|E9S2C(mg)| 384
L (ug) 29| B (D) 0.3

20L(ug) 10|RiEMEHE(@R)| 0.16

N5 220r




1B1ATU D U MERERMIG.
#HEReEd. I TP LAQ10%ER
Bo 124525kcal,

Za—hkU—®
94 9LA Zai-AU=2]
14 125mLasfzh)

TIxrIF—(keal) 25|E9=C(mg)| 500

EhIELEER)]|  03|F47Y(mg) 15

REEL(8) O|ZEM(ug) 550

RKIEV(8) 6.0[E93D3(ug)| 55

BiFEZE(@E)| 0.01|E9=VE(mg)| 20.0

AUSLmg)|  14EZ7FJ(ug)| 50

1B1ATUL > DI MERERMG.
12O Y =V EFE. LR E
DTV ESICHEEZ6,000E
[El=

Za—hkU—@
749V BIO(EF) #+Ov b

1125mLé 1l

IxIbF—(keal) 90|E9=C(mg)| 500

IERiE<B@| 03[747vvmg| 15

AEE(8) O|ZE(ug) 550

Fokitm@ | 22.3]E9= D3| 55

BIFESE@E)| 0.05|E9=VE(mg)| 20.0

hUDLmg|  89[EFFU(ug)| 50

Abvoimg|  80[/fVrFUEmg| 10.0 AYDLmg| 70|57 VEmg| 10.0
YTV L(mg) 2|#%(mg) 0 XT2Y9L(mg) 3|#(mg) 5.0
U>(mg) 4|F8(mg) 12.0 UV (mg) 13[Es(mg) 12.0
P9=VA(ug)| 300[sH(mg) 0 EYSVAug)| 550[88(mg) 0
UF/=b(ug)| 300/l (ug) 50 B-hOFY(mg)| 6.6|EL~(ug) 50
E9XUBImg)|  3.0(70L(ug) 30 E9=VBI(mg)| 3.0/ZLEER(EME) | 6,000
E9=B2(mg) 3.0[3T /4 LQ10(mg) 30 E9=2B2(mg) 3.0|A37 b4 U JH(R) 2
9= VB6mg)|  5.0[A57r7UTHE) 2 P9=VB6mg)|  5.0[k% (g 110
P93vB12(ug)  10.0[K%(g) 120 P93uB12(ug| 10.0
125ml 125ml
180m > 180m
18 é ;&Z Lo #&%iﬁiﬁﬁéo —a—hU—® 18 % gt LohY W%?%%?ﬁ?ﬁ’éo 63028 —a—bhU—@®
121D I S B LUV E 3 5 o 12BEDL Y S Y B LU VB E ] S = =+
p=451.~orameseooon | 21*7VABIO(EF)E F] D=5« sicameseooon (1 TVA BIO(E#)5+75Y2 |
BES. 1R125mLafh) BERS, 1A&125mLafeh)

I)bF—(kcal) 90|E9=C(mg)| 500

ehE<HEER) 0.3|74 7/ (mg) 15

BEEE(g) 0|’ (ug) 550

BoKEmE | 23.0/€95YD3(ug| 5.5

BIEEZNE(@E)| 0.03|E9=VEmg)| 20.0

HYUDL(mg) 17|EFF > (ug) 50

ALY L(mg) 70|/fY ~7VB(mg)| 10.0
YTRYYL(mE) 1[#(mg) 5.0
U (mg) 5|E(mg) 12.0
E9=VA(ug)| 3008H(mg) 0
UF/=b(ug)| 300/ (ug) 50
E9=VBI(mg)| 3.0[FEEREME) | 6,000
E9=VB2mg)|  3.0[A37r1UTHE 2
E93UB6mg)|  5.0[Kk% () 111

E55B12(ug  10.0

125ml

180m

IRILF—(keal) 90|E9=C(mg)| 500

hlE<&R| 03747vYmg| 15

BEE(g) O|E’(ug) 550

Fokitl@ | 23.0[£9=D3(ug| 55
BIEENE(Q| 0.03[E9=VEmg)| 20.0

AU L(mg) 16|EA4F > (ug) 50

ALY L(mg) 708V hFVB(mg)| 10.0
YT 2YUL(mg) 1]8#(mg) 5.0
U>(mg) 5[@A(mg) 12.0
E9=VA(ug)| 300[8A(mg) 0
UF/=Ib(ug)| 300[tL>(ug 50
E9ZB1(mg) 3.0|ZEEE(E@) | 6,000
Fy=vB2mg)|  3.0[A57 M UTEE 2
F9=vB6mg)|  5.0[k% @ 111

E53uB12(ug)| 10.0

125ml

180m

TE1ATL>D U MEFERHE. 63068 ==t NV E: (BRI RS Aa R Rrera 21 Za1—kU—®
3 7
122BEOL YISV LB LLUBRE [ ; ] 8, 5—5 Y ~_RFF R10,000mg.
0)2;5)&35[:7»5*3‘5‘/\;1 74'7'/1 7"1:#5? vyj_} qqzﬁéma‘gsytzxanﬂggagéo 74'7[]1 CP10 E‘y717,b_“j}
PRIz TRLF—(eal] 80 t“a‘;czfn)s mu?gg TxIbF—(ea)] 80 Ea‘ysﬁnfmfgg
RIbF—(kca =YC(mg fIbF—(kcal g 1E .
rehiE<B(@| 07F747Y>(mg| 15 lehE<HE@| 12.0[E9=>Cmg| 500
ASE(g) O|ZB(ug) 550 BSE(9) 0[F 17> (mg) 15
Rokit#m(@ | 20.3[P9=vD3(ug| 55 KL (©) 8.0|FEM(ug) 550
BIFHEZE@E)| 0.04|E9=VE(mg)| 20.0 BIEHESEg)[009~016|E'9=D(ug) 5.5
AU L(mg) 30|EFF(ug) 50 AU D L(mg) 30|E9=VE(mg)| 20.0
Abvoimg|  70[8VrFUEmg| 10.0 Abyuhmg|  75|EFF(ug| 50
YIxyvLmg|  0.7|#mg) 5.0 IR L(mg) 1|87 VB mg)|  10.0
U~ (mg) 4| (mg) 12.0 U (mg) 4|#%(mg) 5.0
EY=VA(ug)|  300[8E(mg) 0 E9ZVA(ug)| 300|dBEH(Mg) 12.0
UF/—(ug| 300[tL>(ug) 50 UF/—lb(ug)| 275U (ug) 50
E9=YB1(mg) 3.0[3TVH4LQ10(mg) 15 B-A0FY (ug)|  300|ITH4LQ10mg 15
P9=vB2mg)|  3.0#37 M 4UT%(E) 2 P9=vBImg)|  3.0A57 M 1UTHR) 2
E9=B6mg)|  5.0/7LIFZV(mg)| 1,000 E9=YB2mg)|  3.0[35-7U87FF 10
P93vB12(ug)] 10.0[k% (@) 112 £9=VB6mg)|  5.0[k% (g 110
125ml 1 80H 125ml 1 94F]
63082 ==l WOk —a—hkU—®
g O 3 "
749VACP10 IE-FLYY| ey | 21 ILRA(FILT7) ] S
_ 5 o R TI&)bF—(keal) 80|E'9=C(mg)| 500 . . I)bF—(keal) 80|E'9=>C(mg)| 500
I5—52URFF £10,000mg. 1218 e — NBEDC ISV E# BIREDS [ o E
By 2 i B LD S L rehlE<BER| 1207477 mg| 15 D E A 1.000mLOBEREY £ hE<BEE@| 1.0747vvmg| 15
ERSALVIRK. Efg ORsue | 50 | X ao@UE Uk vOy bk, (e OBiug | 550
K (8) 8.0/E9=D3(ug) 5.5 KK (8) 21.2|E9=3YD3(ug) 5.5
BIFEZE@E)| 0.11|E9=VE(mg)| 20.0 BIEHESE(@E)| 0.08|E9=VE(mg)| 20.0
AUDLmg)|  26[E4F~(ug| 50 AUDLME)|  90[EAFU(ug) 0
ALY D L(mg) 75|18 b7 VEE(mg) 10 ALY D LA(mg) 70|/fY b7 VEi(mg)| 10.0
SN 1.6|#%(mg) 5.0 XT2YYL(mg) 3|#%(mg) 5.0
U>(mg) 4|FE#(mg) 12.0 U>(mg) 30[&EsH(mg) 12.0
EYIVA(ug)| 300UV (ug) 50 EYSVA(ug)| 550[#H(mg) 0
UF/—l(ug)| 300[3Tv4/LQ10mg| 15 B-hO7v(mg)| 6.6/ (ug) 50
E9=VB1(mg) 3.0(#57 b2 UTER) 2 E93VB1(mg) 3.0|3TVH4LQ10(mg) 0
E'9=>B2(mg) 3.035-4UR7F R 10 E932VB2(mg) 3.0(#57 b4 U TH(R 2
E9=VB6mg)|  5.0[%% (@ 110 P9=B6mg)|  5.0[k%(g) 110
E93UB12(ug)| 10.0 E93UB12(ug)| 10.0

194m

1,015m




(oA Juten |
Sunkist< FEHMOXE +Fiber(ALATY M)

BERITERBUNBEREYZ P
SXTIEMRADRT AV EEL

AUVY H[ IREBEE 15125mlgsict)
TrlbE—(kal] 75[EF=Cmg] 500
K5 (@) T11[AUD LMY (601
FhE<E(@| _ 03[Abvohmg| 80

BEEA () 0|%7%YYL(mg) [4]
BRIk (8) 23.4|U >~ (mg) [12]
FhUDA(ME) 13|#%(mg) 5.0
X5 (g) 0.4|FEEH(mg) 11.0
P9IVALERAB|  175[8@(mg) 0.18

E9=UD(ug)| 1.25|X¥HY(mg)| 0.40
ESYZVEmg)| 5.0(70A4(ug) 3.0
P9=>B1(mg)| 0.65[EL~(ug) 5.0
E93YB2(mg)| 0.70 BiEHHZE(g)| 0.033
FATYY(mgNE)| 8.0/ ¥ (g) 5.0
E93UB6(mg)| 0.80/57F10-2A(R) 1.0
pysuBl2ug|  1.2[574/-2@] 1.0
) 120[y-IF9EEREE)| 100
YT VBmg)| [3.0]

B s

BHEEER
EISVAVLVEYT 14—
Ny RCH7 A ATHFR(ICFEZ T,
BEOMRI SN LLBETT. 15T
3005

BERE4g(200ml5) &1l

TalE—(kea)]  16|BiEtENE(] 0.008

feAlE<E(Q| 0.05FA47YY(mg) 4

BEE() 0|E'93B2(mg)| 0.45
RAKIE(R) 3.9|E9=2C(mg)| 100

1,440m

63080 IE=-= ]
EISYANZyTINT 41—

Ry RCH7 A ATHFREICFER T,
BHOFAICOINULWMEE T 1RT
30L99.

B%84g(200ml5) &1y

TIxrIF—(keal) 16|BiEEZE(g)| 0.008
fehIE<LE(Q)| 0.05/347 YV (mg) 4
BEEA () 0|E9=B2(mg)| 0.45
BAK{E(8) 3.9|E9=C(mg)| 100

63098 BHEEER
EISVANE—-FF1—
My R CB7 A A COFBICEAC,
BEORRISNLLEETT. 15T
3004

BRE4g(200ml5) 1t

IxIbF—(keal) 16|BiEE=E8(g)| 0.007

TehIE<HE(@| 0.07|747YV(mg) 4

BEE(g) 0/E9=VB2(mg)| 0.45
RAKIEM(B) 3.8|[E9=2C(mg)| 100

S8 %, S f,
S(Jo* Gl 1,440m| | ¢ VS 1,440
SHEEEN NIRE v NV
Ry W » 0
YVFEISYAYLER=R) E5 = YREOR ) -7
NEBEDE Y= VG LE U B WDOBDKNFIEEBEFICEY = -
HREINR f2lE B H DL T 18 T20L SRIIEIEHITRIF T
o
£@8gHIY
IxL¥—(kea)] 30[P9=YBI(mg| 0.20
EH&ZB4g(200ml5) &1y rehIFLE(g) 0|E9=>B2(mg)| 0.20
IxlE—(keal)] 16]EFSBImg| 0.22 BEE(g) o[ 17vvmg| 3.2
TehlE<E(g| 0.04[E9=UB2mg)| 0.46 BKIEY(g) 7.6|£9=>B6(mg)| 0.30
I5E(g) o[eg=wB6(mg)| 0.21 FhUDLAMmg|  38]E9=vB12(ug| 0.50
AL () 3.9|P93uB12(ug| 0.7 A oLmg)|  50[EE(ug) 40
BIEEZNE()| 0.004|E9=VC(mg)| 200 #%(mg) 1.0[/\V b7 VEi(mg) 1.0
FTAT7 Y/ (mg) 2.8|E9=UD(ug) 1.0 EISVA(ug)| 120/E9=YC(mg)| 300
NUbsvBmg|  1.2|E9=vEmg| 1.2 P9=>D(ug)| 0.70|BiEESE )| 0.097
PISUAug)| 169|E®(ug) 50 P9=VEmg| 2.0
MAL £y Wik £y
S 1% S L%
(P 400g 1,200m| | “o* 400g 1,553m
NDRAF v IV NIORFvINVEH
N '\\ \ g
E5 3V HREORFE) ) A TH E5 3 YREORFE) /T 7]
WDOBDKD G EERICEY = - VWDOBDKDEIBERRICEY = -
SRIIAEIMTRAFT . SIRIIFAEDITAF T
E@8gHIY ER8gr
IrbF—(kea)] 30[EF=BI(mg| 0.20 IxLF—(kea)] 30[E9=VBI(mg| 0.20
fehlE<E(g) 0[E9=B2(mg)| 0.20 ehIE<E(Q) 0[E9=vB2(mg)| 0.20
FEE(g) O[r47¥vmg| 3.2 BSE(R) o[r47vvmg| 3.2
R 7.6|£9=VB6(mg)| 0.30 KL () 7.5/P9=>B6(mg)| 0.30
FhUDLmg|  38[E93uBI2(ug| 0.50 FhUDLmg|  43[E93uBl2ug| 0.50
Ay Lmg)|  SO[E®(ug) 40 A Lmg|  50[EE(ug) 40
#x(mg) 1.0[fVb7VEmg)| 1.0 1.0[/AY k7 VB(mg)| 1.0
P9=UA(ug)| 120[E9=>Cmg)| 300 120|E9=>C(mg)| 300
E5=UD(ug)]| 0.70|BiEtESE ()| 0.097 0.70|SIEMESE(R)| 0.1
P9=VEmg| 2.0 2.0
AL £y Atk Fo,,
S 1% S %,
S(Jo* 400g 1,553F.I S 400g 1,553F!




63049

NDRAF v IV

RRAEYSVYZV IR

TRIZ AR ICRFE S N FRRDIA DR IE

AYTUXYRTY,

AR1ghly
IxF—(keal)| 3.9/E9=VB6(mg)| 0.35
fehIELE(g) [0001~001 BT S UB12(ug) 0.5
BEEA () 0001~001|E'9 = Y C(mg) 27
ok{E¥(g) | 0.953|[E9=2D(ug)| 0.7
FThUDAME)| 3.16/E9=VEmg) 2.0
E9=UA(ug)| 185E@(ug) 48
E9=VBl(mg)| 0.23[/{Vr5VEmg| 1.0
E9=VB2(mg)| 0.34|RIEIEZE(g)|0.0080
FA7Y/(mg) 3.3

Q\‘“ Fo,

618m

63096

NIZAF v INUH
400gieRAEIS VS IA

HTTRICHRRES N SRR DRE
BYPUXY NOXBEIATTT,

FB1gor
Ix¥—(kea)| 3.9|E9=UB6(mg)| 0.35
TehIF<E(g) |0001~001| EFS UB12(ug) 0.5
BEE() 0001~001|EF =V C(mg) 27
BKIEM(g) | 0.953|E9=2D(ug)| 0.7
FhUDAME)| 3.16|E9=VEMY) 2.0
PI=UAug)|  185|EM(ug) 48
P93VBImg| 0.23[/\VrF Emg| 1.0
E9=UB2(mg)| 0.34| RS (g) |0.0080
FAT Y (mg) 3.3

3,781k

NIRAF v INUH

1kgE I = Y A BILK ]

SIBEDE Y=Y E# 7=/ S Rk
TBERZEDBRILIEY) ([CRERE(EKT

o

100gd&1h)

IxIF—(keal)| 375|E9=VB1(mg)| 176.0
fehlE<HBE(@| 5.2|E9=VB2mg| 7.0
BEEE(g) 1.2~100|E9=>B6(mg)| 58.0
BoKkiE®(@ | 76.0[F#(ug)  |10000
BIFESE () |001~0.14]/Y b7 V#(mg) | 1300~3100
#(mg) 500.0

st“]‘j;%

R 4 1 k

3 7,486m




